

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Foothill Boulevard TSSP - Lowell Avenue to Crown Avenue

Project ID: TSM0010319
Rids Opened: 9/30/2025

Bids Opened: 9/30/2025 Project Manager: Sa'ld Poosti 818-370-1936

			Engineer's Estimate		(1) Elecnor Belco Electric, Inc.		(2) California Professional Engineering, Inc.		(3) Servitek Electric, Inc.				
` '	eliminary Bid Amount					\$	1,497,585.00	\$	1,622,322.10	\$	2,455,442.00		
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	11			\$5,500.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00		
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00		
4	IMPLEMENTATION OF THE LTWHP	1	\$5,500.00	LS	\$5,500.00	\$9,500.00	\$9,500.00	\$2,000.00	\$2,000.00	\$7,000.00	\$7,000.00		
5	IMPLEMENTATION OF BMPS	1	\$5,500.00	LS	\$5,500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$7,000.00	\$7,000.00		
6	MOBILIZATION	1	\$95,000.00	LS	\$95,000.00	\$20,000.00	\$20,000.00	\$50,100.00	\$50,100.00	\$70,000.00	\$70,000.00		
7	EXPLORATORY EXCAVATION OF UTILITIES (CITY OF GLENDALE) (ALLOWANCE OF \$50,000)	50000	\$1.00	AL	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
8	EXPLORATORY EXCAVATION OF UTILITIES (LA COUNTY) (ALLOWANCE OF \$25,000)	25000	\$1.00	AL	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00		
9	SALVAGE EQUIPMENT (CITY OF GLENDALE)	1	\$2,000.00	LS	\$2,000.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$24,000.00	\$24,000.00		
10	SALVAGE EQUIPMENT (LA COUNTY)	1	\$1,000.00	LS	\$1,000.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$24,000.00	\$24,000.00		
11	1-1/2" CONDUIT (SCH 80 PVC)	30	\$120.00	LF	\$3,600.00	\$70.00	\$2,100.00	\$100.00	\$3,000.00	\$51.00	\$1,530.00		
12	2" CONDUIT (SCH 80 PVC)	890	\$100.00	LF	\$89,000.00	\$95.00	\$84,550.00	\$85.00	\$75,650.00	\$49.00	\$43,610.00		

Project ID: TSM0010319

Bids Opened: 9/30/2025

Bids Opened: 9/30/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate	e (1) Elecnor Belco Electric, Inc.			Professional	(3) Servitek Electric, Inc.			
(1) Pre	eliminary Bid Amount					\$	1,497,585.00	\$	1,622,322.10	\$	2,455,442.00		
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
13	3" CONDUIT (SCH 80 PVC)	50	\$130.00	LF	\$6,500.00	\$85.00	\$4,250.00	\$150.00	\$7,500.00	\$53.00	\$2,650.00		
14	2-PAIR DETECTOR LEAD-ÍN CABLE	4850	\$3.50	LF	\$16,975.00	\$3.00	\$14,550.00	\$4.10	\$19,885.00	\$8.00	\$38,800.00		
15	INDUCTIVE LOOP DETECTOR AND LEADS SAW CUT	7325	\$21.00	LF	\$153,825.00	\$17.00	\$124,525.00	\$18.50	\$135,512.50	\$46.00	\$336,950.00		
16	COMPOSITE TYPE 2 PULL BOX INCL COVER	20	\$1,500.00	EA	\$30,000.00	\$1,952.00	\$39,040.00	\$1,200.00	\$24,000.00	\$2,667.00	\$53,340.00		
17	COMPOSITE TYPE 3 PULL BOX INCL COVER	2	\$1,700.00	EA	\$3,400.00	\$2,558.00	\$5,116.00	\$1,500.00	\$3,000.00	\$3,353.00	\$6,706.00		
18	2-CAMERA VIDEO DETECTION SYSTEM (COMPLETE)	2	\$38,000.00	EA	\$76,000.00	\$31,000.00	\$62,000.00	\$34,500.00	\$69,000.00	\$31,718.00	\$63,436.00		
19	4-CAMERA VIDEO/RADAR DETECTION SYSTEM (COMPLETE)	3	\$55,000.00	EA	\$165,000.00	\$52,500.00	\$157,500.00	\$56,600.00	\$169,800.00	\$63,937.00	\$191,811.00		
20	REMOVE TYPE 332 CABINET	5	\$1,400.00	EA	\$7,000.00	\$1,000.00	\$5,000.00	\$800.00	\$4,000.00	\$9,600.00	\$48,000.00		
21	REMOVE LUMINAIRE	38	\$500.00	EA	\$19,000.00	\$100.00	\$3,800.00	\$125.00	\$4,750.00	\$750.00	\$28,500.00		
22	REMOVE VEHICLE HEAD (COMPLETE)	28	\$250.00	EA	\$7,000.00	\$200.00	\$5,600.00	\$150.00	\$4,200.00	\$600.00	\$16,800.00		
23	REMOVE PEDESTRIAN HEAD (COMPLETE)	31	\$300.00	EA	\$9,300.00	\$200.00	\$6,200.00	\$175.00	\$5,425.00	\$600.00	\$18,600.00		
24	REMOVE PEDESTRIAN PUSH BUTTON	92	\$175.00	EA	\$16,100.00	\$60.00	\$5,520.00	\$85.00	\$7,820.00	\$600.00	\$55,200.00		_
25	REMOVE ILLUMINATED STREET NAME SIGN	7	\$600.00	EA	\$4,200.00	\$300.00	\$2,100.00	\$500.00	\$3,500.00	\$600.00	\$4,200.00		_
26	REMOVE RCTB ANTENNA AND CABLE	11	\$500.00	EA	\$5,500.00	\$100.00	\$1,100.00	\$200.00	\$2,200.00	\$600.00	\$6,600.00		_
27	REMOVE RCTB UNIT	6	\$200.00	EA	\$1,200.00	\$100.00	\$600.00	\$80.00	\$480.00	\$600.00	\$3,600.00		
28	REMOVE GPS UTB UNIT AND ANTENNA	3	\$200.00	EA	\$600.00	\$100.00	\$300.00	\$150.00	\$450.00	\$600.00	\$1,800.00		
29	TEMPORARY CONTROLLER CABINET	5	\$3,500.00	EA	\$17,500.00	\$3,500.00	\$17,500.00	\$3,800.00	\$19,000.00	\$31,200.00	\$156,000.00		
30	TYPE 332S STRETCH CABINET	5	\$28,000.00	EA	\$140,000.00	\$27,057.00	\$135,285.00	\$31,500.00	\$157,500.00	\$36,087.00	\$180,435.00		

Project ID: TSM0010319

Bids Opened: 9/30/2025

Bids Opened: 9/30/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate	(1) Elecnor Belco Electric, Inc.			(2) California Professional (3) Servitek Electr Engineering, Inc.		Electric, Inc.		
(1) Pre	liminary Bid Amount					\$1,497,585.00			\$1,622,322.10		2,455,442.00		
(2) Un	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
31	TYPE 2070 LX CONTROLLER	6	\$12,000.00	EA	\$72,000.00	\$12,633.00	\$75,798.00	\$13,750.00	\$82,500.00	\$15,750.00	\$94,500.00		
	WITH D4 PROGRAM												
32	TYPE 2070 Q-FREE/INTELIGHT	5	\$13,000.00	EA	\$65,000.00	\$10,874.00	\$54,370.00	\$12,200.00	\$61,000.00	\$13,725.00	\$68,625.00		_
	CONTROLLER WITH MAXTIME												
	PROGRAM												
33	2010 ECL CONFLICT MONITOR	11	\$2,000.00	EA	\$22,000.00	\$2,398.00	\$26,378.00	\$3,500.00	\$38,500.00	\$4,268.00	\$46,948.00		
34	GPS UTB UNIT AND ANTENNA	3	\$2,200.00	EA	\$6,600.00	\$6,188.00	\$18,564.00	\$7,280.00	\$21,840.00	\$7,986.00	\$23,958.00		
35	2070-7G GPS UTB UNIT AND	1	\$2,800.00	EA	\$2,800.00	\$5,180.00	\$5,180.00	\$6,000.00	\$6,000.00	\$7,298.00	\$7,298.00		
26	ANTENNA REINFORCE SMA TIE RODS	4	\$1,200.00	EA	\$4,800.00	\$500.00	\$2,000.00	\$2,200.00	\$8,800.00	\$825.00	\$3,300.00		
36	ON EXISTING TYPE 3	4	φ1,200.00	EA	φ4,000.00	φ300.00	φ2,000.00	φ2,200.00	φο,ουυ.υυ	φ025.00	\$3,300.00		
	STANDARD												
37	ACCESSIBLE PEDESTRIAN	12	\$7,000.00	EA	\$84,000.00	\$5,009.00	\$60,108.00	\$5,000.00	\$60,000.00	\$6,971.00	\$83,652.00		
01	SIGNAL (APS) CONTROLLER				, ,	, ,	, ,		, ,		. ,		
	UNIT												
38	ACCESSIBLE PEDESTRIAN	8	\$2,500.00	EA	\$20,000.00	\$1,262.00	\$10,096.00	\$2,040.00	\$16,320.00	\$1,580.00	\$12,640.00		_
	SIGNAL (APS) PUSH BUTTON												
	COMPLETE												
39	TOUCH-FREE ACCESSIBLE	84	\$3,500.00	EA	\$294,000.00	\$1,320.00	\$110,880.00	\$1,500.00	\$126,000.00	\$1,647.00	\$138,348.00		
	PEDESTRIAN SIGNAL (APS)												
	PUSH BUTTON COMPLETE				** ***						4		
40	COLD WELD PPB HOLE TO A	2	\$1,100.00	EA	\$2,200.00	\$250.00	\$500.00	\$250.00	\$500.00	\$825.00	\$1,650.00		
44	SMOOTH FINISH		\$1,200.00		\$2,400.00	\$1,530.00	\$3,060.00	\$850.00	\$1,700.00	\$2,982.00	\$5,964.00		
41	PEDESTRIAN PUSH BUTTON POST	2	\$1,200.00	EA	\$2,400.00	\$1,550.00	\$3,060.00	φοσυ.υυ	\$1,700.00	\$2,962.00	\$5,964.00		
42	PEDESTRIAN PUSH BUTTON	2	\$1,000.00	EA	\$2,000.00	\$1,582.00	\$3,164.00	\$1,200.00	\$2,400.00	\$1,575.00	\$3,150.00		
42	POST FOUNDATION	۷	ψ1,000.00	LA	Ψ2,000.00	Ψ1,002.00	ψο, το τ.σο	Ψ1,200.00	ψ2, 100.00	Ψ1,010.00	ψο, του.σο		
43	3-12" LED VEHICLE HEAD	20	\$1,500.00	EA	\$30,000.00	\$1,850.00	\$37,000.00	\$1,900.00	\$38,000.00	\$2,309.00	\$46,180.00		
10	(COMPLETE)	20			, ,	, ,	. ,		, ,				
44	3-12" LED VEHICLE HEAD	3	\$1,700.00	EA	\$5,100.00	\$1,909.00	\$5,727.00	\$2,000.00	\$6,000.00	\$2,384.00	\$7,152.00		
	WITH ANGLE VISOR												
	(COMPLETE)												
45	3-SECTION PV LED VEHICLE	4	\$5,000.00	EA	\$20,000.00	\$6,348.00	\$25,392.00	\$6,500.00	\$26,000.00	\$7,401.00	\$29,604.00		
	HEAD (COMPLETE)												

Project ID: TSM0010319

Bids Opened: 9/30/2025 Project Manager: Sa'ld Poosti 818-370-1936

(1) Preliminary Bid Amount (2) Unit Price Detail Item Description					Engine	er's Estimate	(1) Elecnor Belco Electric, Inc.			(2) California Professional Engineering, Inc.		(3) Servitek Electric, Inc.		
Internal Description Qty Unit Price Annount Unit Price A	(1) Pre	liminary Bid Amount			\$1,497.									
Internal Description Qty Unit Price Annount Unit Price A	(2) Uni	t Price Detail												
(COMPLETE) 47 LED PEDESTRIAN HEAD 48 LED INTERNALLY 49 S4,000.00 EA \$40,000.00 \$1,454.00 \$45,074.00 \$1,625.00 \$50,375.00 \$1,796.00 \$55,786.00 COMPLETE) 48 LED INTERNALLY 49 ISO WEQ LED LUMINAIRE 510N 49 ISO WEQ LED LUMINAIRE 510N 510 WEQ WEQ LED LUMINAIRE 510 WEQ			<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
(COMPLETE) 47 LED PEDESTRIAN HEAD 31 \$1,300 00 EA \$40,000 00 \$1,454 00 \$1,650 00 \$1,750 00 \$55,769 00 LED INTERNALLY 48 LED INTERNALLY 49 \$4,000 00 EA \$36,000 00 \$3,366.00 \$29,754.00 \$4,370 00 \$39,330.00 \$5,850.00 \$52,850.00 LED INTERNALLY 51 SIGN 49 150 WEO LED LUMINAIRE 51 \$5,000 00 EA \$30,000 00 \$1,030.00 \$10,300 00 \$870.00 \$8,700 00 \$1,026.00 \$10,260.00 50 200 WEO LED LUMINAIRE 8 \$1,000 00 EA \$2,600.00 \$1,440.00 \$25,200 00 \$870.00 \$8,700.00 \$1,155.00 \$20,700.00 51 250 WEO LED LUMINAIRE 2 \$1,500 00 EA \$2,600.00 \$1,440.00 \$25,200.00 \$870.00 \$1,176.00 \$2,700.00 52 400 WEO LED LUMINAIRE 2 \$1,500 00 EA \$3,000.00 \$1,440.00 \$25,200.00 \$870.00 \$1,176.00 \$1,155.00 \$2,700.00 53 PAVEMENT MARKINGS 280 \$15.00 \$55 \$4,200.00 \$1,200	46	4-12" LED VEHICLE HEAD	1	\$1,800.00	EA	\$1,800.00	\$2,630.00	\$2,630.00	\$2,240.00	\$2,240.00	\$2,648.00	\$2,648.00		
COMPLETE 48 LED INTERNALLY 9 \$4,000.00 EA \$36,000.00 \$33,366.00 \$29,754.00 \$4,370.00 \$39,330.00 \$5,850.00 \$52,650.00 \$10,000.00 \$1														
AB LED INTERNALLY 9	47	LED PEDESTRIAN HEAD	31	\$1,300.00	EA	\$40,300.00	\$1,454.00	\$45,074.00	\$1,625.00	\$50,375.00	\$1,799.00	\$55,769.00		
SIGN		(COMPLETE)												
SIGN	48	LED INTERNALLY	9	\$4,000.00	EA	\$36,000.00	\$3,306.00	\$29,754.00	\$4,370.00	\$39,330.00	\$5,850.00	\$52,650.00		
49 150 W EQ LED LUMINAIRE 10 \$90.000 EA \$9,000.000 \$10,300.00 \$870.000 \$870.000 \$10,260.00 \$1,260.00 \$														
50 200 W EQ LED LUMINAIRE														
\$1 250 WEQ LED LUMINAIRE			10											
\$1,400 WEQ LED LUMINAIRE \$2 \$1,500.00 EA \$3,000.00 \$1,440.00 \$2,880.00 \$870.00 \$1,740.00 \$1,350.00 \$2,700.00 \$2,700.00 \$3,700.00 \$4,400.00														
S3 PAVEMENT MARKINGS 280 \$15.00 SF \$4.200.00 \$12.80 \$3.584.00 \$13.05 \$3.654.00 \$4.60.00 \$4.460.00 \$4														
CHERMOPLASTIC) THERMOPLASTIC THERMOPLAST														
The color of the	53		280	\$15.00	SF	\$4,200.00	\$12.80	\$3,584.00	\$13.05	\$3,654.00	\$16.00	\$4,480.00		
CHERMOPLASTIC THERMOPLASTIC THERMOPLASTI		,												
Standard	54		790	\$4.00	LF	\$3,160.00	\$9.70	\$7,663.00	\$9.86	\$7,789.40	\$12.00	\$9,480.00		
CHERMOPLASTIC CURB MARKINGS (TWO-COAT 60 \$5.00 LF \$300.00 \$6.30 \$378.00 \$6.38 \$382.80 \$8.00 \$480.00 PAINT)		1												
Second Paint Seco	55		3840	\$9.00	LF	\$34,560.00	\$19.00	\$72,960.00	\$19.37	\$74,380.80	\$24.00	\$92,160.00		
PAINT) 57 SIGN PANEL 9 \$300.00 EA \$2,700.00 \$512.00 \$4,608.00 \$522.00 \$4,698.00 \$630.00 \$5,670.00 \$58 SIGN POST (ROADSIDE SIGN) 1 \$350.00 EA \$350.00 \$625.00 \$625.00 \$638.00 \$638.00 \$770.00 \$770.00 \$770.00 \$570.00		,								****				_
57 SIGN PANEL 9 \$300.00 EA \$2,700.00 \$512.00 \$4,608.00 \$522.00 \$4,698.00 \$630.00 \$5,670.00 58 SIGN POST (ROADSIDE SIGN) 1 \$350.00 EA \$350.00 \$625.00 \$638.00 \$638.00 \$770.00 \$770.00 59 REMOVE CONFLICTING 3620 \$8.00 LF \$28,960.00 \$6.30 \$22,806.00 \$6.38 \$23,095.60 \$8.00 \$28,960.00 STRIPING 80 \$10.00 SF \$2,800.00 \$7.15 \$2,002.00 \$7.25 \$2,030.00 \$9.00 \$2,520.00 MARKINGS 81 REMOVE SIGN 2 \$150.00 EA \$300.00 \$400.00 \$100.00 \$200.00 \$420.00 62 REMOVE SIGN POST 1 \$250.00 EA \$250.00 \$114.00 \$116.00 \$116.00 \$140.00 \$400.00 \$1300.00 \$100.00 \$7000.00 \$140.00 \$140.00 \$140.00 \$140.00 \$1500.00 \$100.00 \$100.00 \$1	56		60	\$5.00	LF	\$300.00	\$6.30	\$378.00	\$6.38	\$382.80	\$8.00	\$480.00		
SIGN POST (ROADSIDE SIGN) 1 \$350.00 EA \$350.00 \$625.00 \$625.00 \$638.00 \$638.00 \$770.00 \$770.00				****		40.700.00	A-10.00	* 1 000 00	*===	* 4	4000.00	45.050.00		
SPACE SPAC							•		•					
STRIPING 60 REMOVE PAVEMENT 280 \$10.00 SF \$2,800.00 \$7.15 \$2,002.00 \$7.25 \$2,030.00 \$9.00 \$2,520.00 MARKINGS 61 REMOVE SIGN 2 \$150.00 EA \$300.00 \$200.00 \$100.00 \$100.00 \$200.00 \$210.00 \$420.00 \$140.00 \$10			1											
60 REMOVE PAVEMENT 280 \$10.00 SF \$2,800.00 \$7.15 \$2,002.00 \$7.25 \$2,030.00 \$9.00 \$2,520.00 MARKINGS 61 REMOVE SIGN 2 \$150.00 EA \$300.00 \$200.00 \$400.00 \$100.00 \$200.00 \$210.00 \$420.00 62 REMOVE SIGN POST 1 \$250.00 EA \$250.00 \$114.00 \$116.00 \$116.00 \$140.00 \$140.00 63 TRAFFIC CONTROL 1 \$96,000.00 LS \$96,000.00 \$19,070.00 \$13,000.00 \$70,000.00 \$70,000.00 64 CHANGEABLE MESSAGE SIGN 2 \$5,000.00 EA \$10,000.00 \$1,500.00 \$3,000.00 \$2,500.00 \$9,100.00 \$18,200.00 65 FLASHING ARROW SIGN 2 \$5,000.00 EA \$10,000.00 \$70,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$2,455,442.00 Unit Price Total \$1,910,880.00 \$1,497,585.00 \$1,622,322.10 \$2,455,442.00 (3) LSBE/DVBE	59		3620	\$8.00	LF	\$28,960.00	\$6.30	\$22,806.00	\$6.38	\$23,095.60	\$8.00	\$28,960.00		
MARKINGS SIGN 2 \$150.00 EA \$300.00 \$200.00 \$400.00 \$100.00 \$200.00 \$210.00 \$420.00 \$420.00 \$200.00 \$				#40.00		#0.000.00	Φ7.4E	#0.000.00	Φ7.0F	#0.000.00	#0.00	#0.500.00		
61 REMOVE SIGN 2 \$150.00 EA \$300.00 \$200.00 \$400.00 \$100.00 \$200.00 \$210.00 \$420.00 62 REMOVE SIGN POST 1 \$250.00 EA \$250.00 \$114.00 \$116.00 \$116.00 \$140.00 \$140.00 63 TRAFFIC CONTROL 1 \$96,000.00 LS \$96,000.00 \$19,070.00 \$13,000.00 \$70,000.00 \$70,000.00 64 CHANGEABLE MESSAGE SIGN 2 \$5,000.00 EA \$10,000.00 \$1,500.00 \$3,000.00 \$2,500.00 \$5,000.00 \$18,200.00 65 FLASHING ARROW SIGN 2 \$5,000.00 EA \$10,000.00 \$1,400.00 \$1,000.00 \$10,500.00 \$2,000.00 Unit Price Total \$1,910,880.00 \$1,497,585.00 \$1,622,322.10 \$2,455,442.00 (3) LSBE/DVBE/SE Preference Amount \$0.00 \$0.00 \$0.00	60		280	\$10.00	SF	\$2,800.00	\$7.15	\$2,002.00	\$7.25	\$2,030.00	\$9.00	\$2,520.00		
62 REMOVE SIGN POST 1 \$250.00 EA \$250.00 \$114.00 \$114.00 \$116.00 \$116.00 \$140.00 \$140.00 63 TRAFFIC CONTROL 1 \$96,000.00 LS \$96,000.00 \$19,070.00 \$13,000.00 \$13,000.00 \$70,000.00 \$70,000.00 64 CHANGEABLE MESSAGE SIGN 2 \$5,000.00 EA \$10,000.00 \$1,500.00 \$3,000.00 \$2,500.00 \$5,000.00 \$18,200.00 65 FLASHING ARROW SIGN 2 \$5,000.00 EA \$10,000.00 \$700.00 \$1,400.00 \$1,000.00 \$2,000.00 \$10,500.00 \$21,000.00 Unit Price Total \$1,910,880.00 \$1,497,585.00 \$1,622,322.10 \$2,455,442.00 (3) LSBE/DVBE/SE Preference Amount \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	- 0.4			¢450.00		#200 00	#200.00	£400.00	¢400.00	#200 00	£240.00	¢400.00		_
63 TRAFFIC CONTROL 1 \$96,000.00 LS \$96,000.00 \$19,070.00 \$13,000.00 \$13,000.00 \$70,000.00 \$70,000.00 64 CHANGEABLE MESSAGE SIGN 2 \$5,000.00 EA \$10,000.00 \$3,000.00 \$2,500.00 \$5,000.00 \$18,200.00 65 FLASHING ARROW SIGN 2 \$5,000.00 EA \$10,000.00 \$1,400.00 \$1,000.00 \$2,000.00 \$10,500.00 \$21,000.00 Unit Price Total \$1,910,880.00 \$1,497,585.00 \$1,622,322.10 \$2,455,442.00 (3) LSBE/DVBE/SE Preference Amount \$0.00 \$0.00 \$0.00														
64 CHANGEABLE MESSAGE SIGN 2 \$5,000.00 EA \$10,000.00 \$1,500.00 \$3,000.00 \$2,500.00 \$5,000.00 \$18,200.00 65 FLASHING ARROW SIGN 2 \$5,000.00 EA \$10,000.00 \$1,000.00 \$1,000.00 \$2,000.00 \$10,500.00 \$21,000.00 Unit Price Total \$1,910,880.00 \$1,497,585.00 \$1,622,322.10 \$2,455,442.00 (3) LSBE/DVBE/SE Preference Amount \$0.00 \$0.00 \$0.00			1							· ·				_
65 FLASHING ARROW SIGN 2 \$5,000.00 EA \$10,000.00 \$700.00 \$1,400.00 \$1,000.00 \$2,000.00 \$10,500.00 \$21,000.00 Unit Price Total \$1,910,880.00 \$1,497,585.00 \$1,622,322.10 \$2,455,442.00 (3) LSBE/DVBE/SE Preference Amount \$0.00 \$0.00 \$0.00			1											_
Unit Price Total \$1,910,880.00 \$1,497,585.00 \$1,622,322.10 \$2,455,442.00 (3) LSBE/DVBE/SE Preference Amount \$0.00 \$0.00 \$0.00						1 1			<u> </u>					_
(3) LSBE/DVBE/SE Preference Amount \$0.00 \$0.00				\$5,000.00			•					1 1		
					\$	1,910,880.00	\$							
(4) LSBE/DVBE/SE Adjusted Amount \$1,497,585.00 \$1,622,322.10 \$2,455,442.00	(3) LSE	BE/DVBE/SE Preference Amount						\$0.00		•		\$0.00		
	(4) LSE	BE/DVBE/SE Adjusted Amount					\$	1,497,585.00	;	\$1,622,322.10		\$2,455,442.00		

Project ID: TSM0010319
Rids Opened: 9/30/2025

Bids Opened: 9/30/2025

Project Manager: Sa'ld Poosti 818-370-1936

Duration: 220 Day(s)

			Engineer's Estimate		, , ,		` '	(2) California Professional Engineering, Inc.		(3) Servitek Electric, Inc.		
(1) Preliminary Bid Amount					\$1	,497,585.00	\$1,622,322.10		\$2,455,442.00			
(2) Unit Price Detail <u>Item Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
Comments					APPARENT LO	W BIDDER						